UNIT 7 - Class : 9

I. Choose the word or phrase (A, B, C or D) that best fits the space in each sentence.

1. Water is going all over the floor because of the faucet.
A. drip B. to drip C. dripped D. dripping
2. The field was full of after the hot, dry summer.
A. cracks B.rice C. corn D. pipes
3. Mrs Ha was worried because her recent water bill was
A.expensive B. dear C. enormous D. costly
4. Wehavetogeta /an to check the pipes .
A.mechanic B. piper C. engineer D. plumber
5. If you want to save money , you should the amount of water your family uses
A.reduce B. increase C. drop D. repair
6. Don’t forget to turn the lights when you leave the classroom.
A.on B.out C. off D. up
7. energy is practical but dangerous.
A. Nuclear B. Wind C. Alternative D. Solar
8. John going for a picnic, but no one else wanted to.
A.admitted, B.offered C. promised D. suggested
9. energy is much safer than nuclear energy.
A. Sun B.Sunny C. Solar D. Sun’s
10. In many parts of the world where there is no coal, oil, nuclear power is the only
A alternative B. option C. compulsion D. choice
11. Lighting for 30 percent of our electricity bill.
A.makes B. accounts C. puts D. does
12. We can save more energy by electricity and water.
A.wasting B. turning off C.conserving D.protecting
13. in order to save electricity, you’d use bulbs.
A.energy-saving B. saving-energy C. energy-saved D. saved-energy
14. We just the solar panels and no longer worried about electric shock when cooking.
A.made B. set C. put D.installed
15. A new washing machine will be this afternoon.
A.set B. installed C. worked D. put
16. If we on wasting water, there will be a shortage of fresh water in a few
decades.
A.get B. go C. depend D.turn
17. Energy can be collected by solar on cloudy days.
A.boards B. panels C. bars D.sheets
18.1f we don’t find sources of power, we will use up all the fossil fuels in the near
A future effective  B.efficient C. natural D. alternative
19.We want to use solar energy, it can not be used on cloudy days.
A.but B. so C. because D. however
20.Her husband bought not only two energy-saving bulbs but one cheap washing machine
last Sunday.
A.also B. too C.as well D.some

I1. Read the signs and choose the best answer
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1.What does the sign say?
A. You mustn’t drive after drinking
B. You shouldn’t drink after taking

D. You must be

C. You must be careful with drunk drivers

medicines

2. What does the sign say?
A. Accident-prone areas
B. Areas with no pedestrians

C. Pedestrians must not turn left.

C. Pedestrian crossing is not allowed

3. What does the sign say?
A. Don’t use hands.
B. Don’t keep in touch
C. Touchonit
D. Don’t touch

4. This sign tells you that:
A.Run - Don't walk.
B.Go this way in case of fire.
C. Fire in front of the shop
D.Afraid of fire.

)
g

I11. Use the correct form of the word given in each sentence.

Solar energy can be used on

days. (cloud)

She manages the business

The is always right. (consume )

. (efficient)

There have been many
You can ask that plumber for

oakrwdE

A leader must be able to communicate

in the field of electrical engineering. (innovate)

(advise)

. To keep the air unpolluted, people ought to use

7
8. Here is the weather forecast for tomorrow. Ha Noi will be clear and
9. In afew years’ time, our houses will be by solar energy. (hot)

10. Since the world’s energy resources are limited, we must

in order to be successful.(effect)
on how to repair the cracks in the water pipes.

energy to create electricity. (sun)

.(cloud)

them. (conservation)

1VV. Choose the word (A, B, C or D) that best fits the space in the following passage.

About twenty percent of the world’s present energy already comes (1)

the sun in

one form or another.Special devices have already been made available to put on the roofs of houses and
flats to (2) the sun’s ray and thus heat water. Thousands of these devices are now being used to
provide (3) in homes throughout the United States while more than a million solar water

— heating units have already been (4)

solar energy is at present being used

conditioners or central heating (6)

in homes in Japan.Other purposes for which

include the (5) of salt from seawater,
irrigation and sewage disposal. For most people in developing countries , the need is not only for air —

and lighting homes..

1A In B.on
2. A. buy B. contain
3. A. light B. energy

C. from D.to
C. catch D. produce
C. life D. money

for cheap ways of cooking food , drying crops ,

Moi thic miic, hoc sinh cé thé lién lac cé Triic (SDT/Zalo: 0938388244) hodc cé Phiic (SPT/ Zalo: 0988556042).

Chiic cdc em on tip thit tot.

2



4. A. installed B. planned C. planted D. made
5. A. preparation B. modernization C. pollution D. separation
6. A. but also B. and C. nor D.or

V.Read the following passage. Decide if the statements from 1 to 4 are True or False and choose
the correct answer (A, B, C or D) for the questions 5 and 6.

Air pollution is by far the most harmful form of pollution in our environment . Air pollution is caused
by the injurious smoke emitted by cars , buses , trucks , trains , and factories. Even smoke from burning
leaves and cigarettes are harmful to the environment causing a lot of damage to man and the
atmosphere. Evidence of increasing air pollution is seen in lung cancer.

Water pollution caused by industrial waste products released into lakes , rivers , and other water bodies ,
has made marine life no longer hospitable . Humans pollute water with large scale disposal of garbage
and other household waste. In many rural areas , one can still find people bathing and cooking in the
same water , making it incredibly filthy.
Noise pollution , soil pollution and light pollution are also damaging the environment at an alarming
rate. Noise pollution includes aircraft noise , noise of cars, buses , trucks , vehicle horns , loudspeakers ,
and industry noise which are extremely harmful to the environment.
1.  The passage mentions three kinds of pollution.
2. Lung cancer is a result of air pollution.

3. Only waste products in industry make water polluted.

4.  The noise from the factories also do harm to the environment.

5 ltis that increasing air pollution is the cause of lung cancer.
A.  rumored B. thought C. proved D. said

6. The phrase rural areas in the passage means:

A. Inside the city B. the neighborhood C. downtown D. the countryside

V1. Rearrange the groups of words in a correct order to make complete sentences.
1. You/save/ money/can/if / use / enegy-saving bulbs / you

2. suggest / banana leaves / to reduce / garbage / using / |

3. collect / that/ street children / suggests / He / should / used clothes / we / for/.

4. we should/ garbage bins/ that/ the/ around/ | suggest/ put/ school yard/./

5. ordinary bulbs/ to use / instead / It’s/ of /energy-saving bulbs/ necessary

VII. Rewrite each of the following sentences in another way so that it means almost the same as
the sentence printed before it.

1.“Shall we go to the English-speaking club?” said Tony.
- Tony suggested
—>Tony suggested that
2. “Let’s go to the swimming pool,” Nick said.
-> Nick suggested that
3. Tom said to Mary: “ Why don’t you wash clothes in cold water?”
- Tom suggested that
4. Hoa suggests using energy-saving appliances.
- Hoa suggests that we
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5. What about organizing a charity event to raise money?
-> | suggest we

6. “Why don’t you put an advertisement in this local newspaper?” they said to me.
-> They suggested that

7. “Let’s not tell anyone until we are certain that the report is true,” said Tom.
—-> Tom suggested that

8. We continue to hope that she will come.
-> Wego

9. I was tired. However, | had to finish my work.
- I had to

10. Because of having a lot of difficulties, she managed to sell the house.
- As/ Since/
Because

Moi thic miic, hoc sinh co',thez lién lac cé Truc (SDT/Zalo: 0938388244) hodc co Phiic (SPT/ Zalo: 0988556042).
Chiic cdc em on tdp that tot. 4



